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3amaga 27.1.M
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Anewur Baaducaas

a = 30°,

AB = 10, BC = 30,
DB =60, DF = 30,
NC = 40, EH = 30,
FE =15, FG = 30,
OA =20, KG = 20.

p =[0.1,0.3,0.35,0.25],
T =[8.5,7.5,6.5,5] H.

Andpees Jlarus Pomarnosuwy

a = 30°,

AB = 10, BC = 30,

NB =50, NF = 30,

CD =40, EH = 30,

FE =35, FG = 30,

OA =20, KG = 20.

p = [0.05,0.35,0.35,0.25],
T =[8.5,7.5,6,5] H.

b=

Baacos Baadumup

a = 30°,

AB = 20, BC = 10,

BF =50, NF = 50,

CD =25, EH = 30,

FG = 25, GE = 10,

OA =20, KG = 25.

p = [0.05,0.35,0.35,0.25],
T =[8.5,7,6.5,5.5] H.




3amaua 27.4.
C

o

Tnasxoe Huxuma

a = 45°,

AB = 30, BC = 30,
NB =60, NF = 30,
CD =60, EH = 30,

FE =35, FG = 10,
OA =30, KG = 25.
p=1[0.1,0.3,0.35,0.25],
T =[8.5,7.5,6.5,5.5] H.

3amauga 27.5.

I'punesun Uava Koncmarnmurosuy

N C
L1 a = 30°,
AB = 30, BC = 30,
DB =20, DF = 30,
B NC =15, EH = 30,
€ FE =15, FG = 10,
O OA =30, KG = 25.
M p=10.1,0.3,0.4,0.2],
N I T =[8,7,6.5,5 H.
™~ G
3amaua 27.6. Epwos Huxuma Cepzeesun,
C D
T == a = 30°,
AB = 30, BC = 30,
NB =60, NF = 40,
B CD =40, EH = 30,
¢ FE =15, FG = 10,
0 OA =30, KG = 25.
M _p p = [0.05,0.35,0.4,0.2],
ﬂ T = [8,7.5,6,5] H.
5
3amaua 27.7. 3wsa Anacmacus Oaezo6na
C D
¥ = o = 30°,
AB = 30, BC = 30,
NB =60, NF = 30,
(B CD =40, EH = 30,
FE =35, FG = 10,
@) OA =30, KG = 25.
//* p=[0.1,0.3,0.35,0.25],

T = [8.5,7.5,6.5,5) H.




3amaua 27.8. Upza Kupuan Badumosun

a = 45°,

AB =10, BC = 30,

NB =20, NF = 30,

CD =15, EH = 30,

FE =35, FG = 10,

OA =20, KG = 25.

p = [0.05,0.35,0.35, 0.25],
T =[8.5,7,6,5] H.

3amaua 27.9. Kynouyc Feop Eseenvesun
N C
a = 45°,
AB =10, BC = 30,
DB =60, DF = 30,
NC =15, EH = 30,
FE =15, FG = 10,
0OA =20, KG = 25.
p=10.1,0.3,0.4,0.2],
T =18,7.5,6.5,5.5] H.

3amaga 27.10. M Jywenro IHemp Buxmoposuy

a = 30°,

AB = 30, BC = 30,
DB =50, DF = 30,
NC =40, EH = 30,
FE =15, FG = 30,
OA =30, KG = 20.

p = [0.05,0.35,0.4,0.2],
T =8,7,6,5.5 H.

Ma3syp Hava Buxmoposuy

a = 30°,

AB =10, BC = 30,

DB =50, DF = 30,

NC =40, EH = 30,

FE =35, FG = 10,

OA =20, KG = 25.

p = [0.05,0.35,0.35,0.25],
T =[8.5,7,6,5] H.




3amaua 27.12.

Hewaesa Ioauna Hzopesta

a = 30°,

AB =20, BC = 10,
BF =50, NF = 50,
CD =15, EH = 30,
FG = 10, GE = 45,
OA =20, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =8,7,6.5,5 H.

Obyzos Cemen

a = 30°,

AB = 25, BC = 10,
BF =80, FD = 20,
NC =40, EH = 30,
FE =50, FG = 30,
OA =30, KG = 25.

p =[0.1,0.3,0.35,0.25],
T =8.5,7,6,5 H.

Irexamnos Apmem

a = 30°,
AB = 30, BC = 30,
NB =60, NF = 30,
B N - CD =15, EH = 30,
yis FE =35, FG = 30,
O I OA =30, KG = 20.
//% o] p = [0.05,0.35,0.4,0.2],
A //% T =18,7.5,6.5,5] H.
A o
3agaua 27.15. b Ceausatros Anexcandp Muzatisosuy
£ p=l o a = 30°,
AB = 30, BC = 30,
v \;K NB =50, NF = 30,
B o N - CD =50, EH = 30,
7 pie FE =35, FG = 20,
0 I OA =30, KG = 25.
N\ ol p=1[0.1,0.3,0.35,0.25],
N %X\' T =[8.5,7,6.5,5.5] H.
A - E




3agaya 27.16.

D
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Cmynax Asexcandpa Aanexceesta

a = 30°,

AB = 30, BC = 30,
NB =20, NF = 40,
CD =15, EH = 30,
FE =15, FG = 30,
OA =30, KG = 20.
p=10.1,0.3,0.4,0.2],
T =8,7.5,6.5,5.5] H.

3amaua 27.17.
N C

Cyzoe Anexcandp

a = 45°,

AB =10, BC = 30,
DB = 20, DF = 40,
NC =15, EH = 30,
FE =35, FG = 10,
OA =20, KG = 25.
p=1[0.1,0.3,0.35,0.25],
T =[8.5,7,6.5,5] H.

Tepexosa Mapzapuma

a = 30°,

AB = 30, BC = 30,
NB =60, NF = 15,
CD =15, EH = 30,
FE =35, FG = 10,
OA =30, KG = 25.

p =[0.1,0.3,0.35,0.25],
T =[8.5,7.5,6.5,5) H.

N

mis

Deprandy Mapceauny 2Kyauy

a = 45°,

AB =25, BC = 10,
BF =50, NF = 50,
CD =25, EH = 30,
FG =25, GE = 10,
OA =30, KG = 25.
p=1[0.1,0.3,0.4,0.2],
T =8,7,6.5,5.5) H.




3agaya 27.20.

D
=

Xumenec Menduema Xyauo Cocap

a = 30°,

AB = 30, BC = 30,

NB =20, NF = 40,

CD =15, EH = 30,

FE =15, FG = 30,

OA =30, KG = 20.

p = [0.05,0.35,0.35,0.25],
T =[8.5,7,6.5,5.5] H.

Ilanosanros Andpeti Eezenvesun

a = 30°,

AB =10, BC = 30,
DB = 60, DF = 40,
NC =40, EH = 30,
FE =35, FG = 10,
OA =20, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =[8,7.5,6.5,5] H.

3agaga 27.22M

Hlanosanosa Mapus Eseenvesha

a = 30°,

AB = 25, BC = 10,
BF =80, FD = 20,
NC = 40, EH = 30,
FE =35, FG = 25,
OA =30, KG = 25.

p =[0.1,0.3,0.35,0.25],
T = [8.5,7.5,6,5] H.




